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Alphabet Test Questions for SBI Clerk Pre, IBPS Clerk Pre, LIC

Assistant Pre and IBPS RRB Asst. Pre Exams.
Alphabet Test Quiz 13

Directions: Read the following questions carefully and choose the right answer.

1. Which of the following is the third letter of the meaningful English word which can be
formed using (each letter once) first, third, fourth, sixth, eighth and ninth letters of
“ASTRONAUT”?

AT B.U C.R D.N E.A

2. Which of the following words can be formed using the letters of word "SQUIRREL"
only?

A. Square B. Quarrel C. Liar D. Lure E. None of these

3. How many such pairs of letters are there in the word “ATTRACTION”, each of which
has as many letters between them in the word (in both forward and backward
directions) as they have between them in the English alphabetical series?

A.One B. Two C. Four D. Three E. More than four

4, How many letters (as per the English alphabetical order) are there between fifth and
tenth letters of the word RELATIONSHIP?

A. None B.9 C.7 D. 11 E. None of these

5. How many such pair(s) of letters are there in the word ‘ABHINANDAN’ which have as
many letters between them as in the alphabetical series as we move only from left to
right?

A.One B. Two C.Three D. Four E. Five

6. If the letters in word MISCOMMUNICATION are arranged in the English alphabetical
order, the position of how many letters will remain unchanged?

A. None B. One C.Two D. Three E. None of these

7. If in the word ‘RETIREMENT all the letters are arranged in alphabetical order from left
to right end then position of how many letter(s) will be remain unchanged?

A. None B. One C.Two D. Three E. More than three




8. How many such pairs of letters are there in the 'CONDITIONAL' each of which has as
many letters between them in the word as in the English Alphabet?

A.One B. Two C.Three D. Four E. None of these

9. How many such pairs of letters are there in the 'NEWSPAPER' each of which has as
many letters between them in the word as in the English Alphabet while counting only
from left to right?

A. None B. One C.Two D. Three E. None of these

10. How many meaningful words can be made by using letters ‘L’, ‘O’, ‘S’ and ‘U’, keeping
S as the first letter of the word?

A. None B. One C.Two D. Three E. None of these

Correct Answers:
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Explanations:

1. First, third, fourth, sixth, eighth and ninth letters of “ASTRONAUT” are — A, T,R,N,U and T.
Truant is the only meaningful English word which can be formed using the above letters.
‘U’ is the third letter of the word Truant.

Hence option B is correct.

2. Only "Lure" can be formed using the letters of the word "SQUIRREL" .
Rest words possess some extra letters.
Lure means to tempt or provoke someone.

Hence option D is correct.

A|lT|IT|IR|A}JC|T]| I |O|N

1 |20(20(18 | 1| 3 [20( 9 (15|14
L L

Hence, only two pairs are there of which has as many letters between as they have between them in
the English alphabetical series.

Hence, option B is correct answer.

4. The given word:

R E L A T I 0 N S H | P
1st 2nd 3rd 4th 5th 6th 7th 8th 9th 10th 1 1th 12th

Fifth letter of the word: T
Tenth letter of the word: H

Hence, letters between T and H in English alphabet =11

Hence, the correct answer is option D.




We have,

The given word = ABHINANDAN

Possible pair of letters in the above word which has as many letters between them as in the English
alphabetical series as we move only from left to right:

Clearly, only two such pairs that meet the given conditions are possible.

Option B is hence the correct answer.

Observing the table, we can say that only M's position remains unchanged.

M[IT|S|ICIOfM|M|[U|N|I'|C|A|T|I|O|N
Alc|cfljr{r{Mm{fMM|N[N|O|O|S|T]|U

Hence, the correct answer is option B.

The given word = RETIREMENT
After arranging all the letters in alphabetical order from left to right end, we get:
EEEIMNRRTT

At this point, we have:

Given word RIE|T||I|R|E|M|E|N|T
After arranging E|E|E|I[{M|[N|[R|R|T]|T

Here, we can see that position of three letters is same in both words.

Hence, the correct answer is option D.




10.

C (0] D | T |
C D E F G H |
(o) N

0 N

(0] N

0] N

(0] N A

0] N M

And
N A
N M

Clearly, option E is the correct answer.

While counting from left to right, we get only one such pair that satisfies the condition. The pair is

as follows:
P E R
P Q R

Option B is hence the correct answer.

Words that can be formed using O, U, S and L while keeping S as the first letter: SOUL

Clearly, option B is the correct answer.
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